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No. HF|Fedksa PERI | FE i H Fuv FH| MEAT kS B KA/ F—h FIT g /A4~
1| 4730 H | Kaxrosk 5B 80mH BALL—2 1 13.64] —1.3m/s|#fif BRZ(6) |AiZHTCUSI
2| 4H30H | K&k B 80mH BALL—A 2 1 13.47| +1.5m/s| &6 —2F6)  |[AAZTCUSE)
3| 430 H | Kaxindsx 7 hF 80mH BA DL —A 2] 2 13.56] +1.5m/s|fAAk HRA6) |MiZATCUSI
4| 4 H30H | Kk&E0ek B 80mH A A KL—2 2 3 13.69] +1.5m/s| EH  BEAEG6) | EAJTS(EHR)
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2017/04/29 09:00 i 0.5 6. 0 B lyic] .0
10:00 & 1.0 49. 0 e yiic] .6
11:00 & 20.5 49. 0 kv 4.4
13:00 s 21.0 42.0 Jevg .5
14:00 i 20.5 45. 0 Jedbvg 1.8
15:00 i 21.0 42.0 gl 2.7
16:00 I 0.0 40. 0 JbvE 4.9
17:00 & 19.5 38.0 JbvE 3.9
2017/04/30 09:00 i 25.0 28.0 HALHR 2.8
10:00 i 26. 0 0.0 it 4.0
11:00 i 26. 0 30. 0 Jedbve 4.8
12:00 i 26. 5 2.0 JbvE .6
13:00 i 7.0 36. 0 JbvE .9
14:00 5 7.0 9.0 JbvE 4.7
15:00 i 27.5 26. 0 JbdkvE 6.7
16:00 i 26. 0 4.0 Jeve 4. 4
17:00 | P55 %30 [EEIA] 7. 1




